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ITGS211
A58 3 patacall
@ 2022 @ 2l ) Jusil 1

gAYy JAaaY) Jap
Input & Output Statements

R 5 jaladd) | Al daa



ol - e gl A

standard input =18 JAY) Slea i keyboard | gﬁ\-“—\‘
Seal Juyit cilaglaall Wby el 4t Jidind 63 device
standard Java (58 (3%e Class aldiul 4330 We s (2 pall
library
Ll Jsasll &% standard Java library (2 45l Java classes
iy L Java Applications Programming Interface plasiuly
. Java API—= 1baial 4|
sl JUa) Jae
System.out.println (message) ;
ClassJ) 1% 5 standard Java library (e System class alaiul o3 >
system level (& <@l (5355 methods (5 s>
Al println s print Gfd sl (5 5335 System class (= object s out >

° .output device Al Slea () Sl slaall Jls ) daga (L2355
3
pukblic cla=s=s HelloWorld {
public static void main(String[] args) {
String message = "Hello World":
System. cut.println (message) ;
ut - HelloWorld (run) =
° Hello World
4
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. o L)
message sriall sa g Ca gall G e dad Jlu )l ptie Golead) Wila 35 0

s hall 13 2w =3l o < Hello World Al g s 53l

Hello World
|IJ}

(Ol Al (e Bans Lad JanY @
bl 71 Al dglee b 2035 :print statement 4eldal) dlay o
AU JSal a5 e il laall
e System.out.print (Exp) ;
sihia sl a5l el dad sl goae Al (S Of (S Expidus e
ol LS Aelhall Ales (i (8 et (g ST Aol e oall ling o8 Ll
e System.out.print (Expl + Exp2 + ..);
() sl 06 Gyl G Juadl) JaaY o
Ll Yl o3lel print dles JS& i ) :println statement Asldall Alay o
Adul) de bl e J8 aaa Hlaud deball jdige JWSI 8 o

o J
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s v 1)
ALl

® System.out.print("OO-Programming ");
5 LS Gapaiil) Jidle (pile paill gl OO-Programming ko

® System.out.print(40+60);
IOOﬁj@u‘&éwddﬂ\@ueﬁ °

°int A=40,B=60 ,c=A+B;

» System.out.println(A+B);

Jaxa el 100 5o gilill delida 5 Y 5 B 5A Cposdiall el ez ol @
s sl Jon bl jdise

» System.out.print(c);

@ A sl 4100 5 0 eriall dad auhay o
\ %
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® System.out.print("A+B=" +40+60); h
60 i 40 Lo sia A+B= s LS Gaaill Jidle (ule paill galay o
A+B= 4060 < <= JulSielhll it o < dlul Lgils
o System.oqt.print("A+B= "+ A+B);
il daiy e siie A+B= 2 WS anaiill Jidle Gl (aill aaday o
A+B= 4060 : < & JUIS 60 o4 9B uaiall dad 2340 25 A

® System.out.print("A+B=" + (A+B));
A+B=100 < Gacbbll =S8 By A il Jed

* System.out.print("A+B="+ "A"+"B" );

= deluhall il o & ¢
@ A+B=AB G G acbibll 2l G S8 BJ/

4 . N
ds) Al dlaa
:\AJS ég)l: = em‘ Cre L) Ec\ﬂ e.lilwg :Scanner Class ®
pladiul g N Java.util B s s il
ol e il dleal
import java.util.Scanner;
Pexdinian iy System. in ge des Scanner (&l e
e Scanner input = new Scanner (System.in);
A Gt JAa) Llee o de Jugsanl 5 0 iy Hlacdl 138 @
bl

e input.nextLine ();
).\Si ;.ﬁ% ui OSM‘guser ew\ e lnput B;\)g ‘515 d.ﬁ M\ 0dd o
_Lgéstring Bg‘ﬁé:\j&\o%sﬁj@b)ﬂ\dhfsﬁw

o J

8

B 5 jalaall  Aiedl) dae



ol - e gl A

. N
sl Al dlay

e input.nextInt (),
.iasslnt@m e '&;\)ﬁé:\ﬂ;ﬂ 0 ﬁ.—.’vjj.
° input.nextFloat ();

\\

. .L;sﬂ ﬂoat zng.\s;": Qe 3;\} é :\jléj\ b..l% g_éj )

o J

- import java.uti].Scanne:E
public clags Input Number {

System. cut.println ("Enter int number");

Emt o= in.ne:-:tInt[]B
Syaten, cut.println("C=" + o);

10
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bl Al dley
Tad JA0Y i) Jid) b in . nextTnt () plaiul o5 LaY
:\AJM Z\.-JJJ-C

-

int c= in.ne|

System. gL an:) g - byvce [P

0 nextByte (int 1) bvte
H O nextInt () int
ﬁ;;];;;{] g)nextInttint i) int —
— 1 ) nextShort () short —
) nextShort(int i) short L
O next () String
() next (Pattern ptrn) String | _
O next (5tring =string) String —
0 nextBigDhecimal () BigDecimal
0 nextBigInteger () BigInteger
) nextBigInteger (int i) Biglnteger
() nextBoolean () boolean
) nextDooble () double
e () nextFloat () float | |
\ O nextLine () String /

11

, B
1 Jha

oasal) # Johall (5 s Jelataall daliss b Lale (y)
(y * x) =(2) dalill

package area:;
import java.util.Scanner;
public class Area {
public static void main(String[] args) {

Scanner input = new Scanner (System.in):’
System.ocuct.println("Enter
int y =input.nextInt():
System.ouct.println("Ente
int x=input.nextInt():
int z=x*y;
System.ocur.println("Area="+2z)
}

12
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import java.util.Scanner;

public class Average {

public static void main(String[] args) {
Scanner input = new Scanner (System..in);
int x=input.nextInt();
int y=input.nextInt ().
int z=input.nextlInt():
float s=x+y+z:
float a=s3/3;
System.ouc.print ("Average="); Output - Average (run) X |
System.ouc.princtln(a):

12

14

s
Average=10.333333

@ | BUILD SUCCESSFUL :c/
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IS (Ll 40) Aas Aals el 38 3 55 (Ul 100) e dlae bl 1S 1)
O Sl it oS5 Sl Vg Ll oSy 1 el s oS Al
Al 038 Jal Java i geali s uSi €A gl

import java.util.Scanner;
public class Modul {

public static void main(String[] args) {
Scannexr input = new Scannerxr (System..in):’
int m = input.nextiInt():
int p = input.nextInt():
int n = m/p:

int r= m$p’
| output - modul (run) x

System.ocuc.println(n);
System.ouc.println(x): w Too
} > 40
} L] 2
8| 2
Q BUILD SUCCESSFUL

14
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Process Types 4allaall )4

15

a N

Jeal sl Jles 2858 44 oo Aallaall g5 3 aaial)
Dot A 55k a )l a5 eali il

(step by step) Sequential Process dail) dadlaall g
(if , if else , Switch case) Selection Process 4 LAY daluall
(for , do while , do until) Repetition Process 41 st dadlaal) 3

(Go to) Randm Process 4l gdiad) dadlaall 4

o
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.(step by step) 4mliil) daltaall

2 Alen Janl) 35 of le gl 130 T s o
5V Aeal) 255 (il ) e o cati il dlen

Operation 3 :d“; ,)3] g_s:‘; \JSAJ 2i':.""l:m M‘ g_sJ\ dﬁ-‘;‘ L@-““J

(if , if else , switch) 4 Ly dadtaall
Ao gana ol Alex JLEAL a6 ¢ gill 18 e
a5 Y Jex de gana 5l s 5 «Condition
el e g B by i

AUl syl Jasll (gaa) pladiul s
@ (if , if else , switch)

/

17

4 | TR
(for , do_while,do_until) 43, Sl Aadlaall

Condition

S5 A Aallad) e g sl 138 d o

DS des Ao sane sl Alen 345

aﬂheﬁs\}uﬂuk‘)ﬁ&_\u&'&fw
A Sl Jaall gaa) aladiuly

Operation 2

Operation n

(GO t0) 4 gdad) dadlaal)
& pie JS dane ll Jeal) 2i o dalladll e g il 18 o
aal) 2dhy 25 Dagld) el ) i o5 I 5Y) dleal) 243 D
(Go to ) Adan aladiuly Gllb o1y 5 1388 5 400G &5 4l )l
. %
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Condition Types gl g4l

e 8 Al gyl audie
Simple Condition ) Ja & -1

Comparison operator 40 Hlaal) & }ﬂ PRESNA ERE <l
Complex Condition S sl bl -2

Comparison 45l & ol aladinY i 4y
.Logical Operator dgalaiall <l oY) ) ddlayly Operator

o J

19

4 I
if statement &l dlaa
A el Rl 3205,

— /If ( condition )

{

Statement_1;

Statement_n;

}
-+ hext statement
‘;} 40..}.;»}33\ O B)}a;.d\ Jaadl/aleal) et (’35‘3 TA:\M o Hlialy
Jn iy 30 36y Janl) B 345 o 36 Tyl As pe
O daiad g if Alas i ) ¢(next statement) gl

- lered

20
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if statement b &l dlas
elininy) (Say 4ild (if)ﬁgwkﬁﬁb\jﬁgwi\ju uﬁo
i gial) Alalally Jo yil) dles i Allall oda 85 Ll Y1 (e
J ek WS (5)

If ( condition )
Statement-1;

Aea iin sl e SIST e g gind jf e il o) 5 s 14BN
(Al Jidl 8 LS cone statement saal

if (average > 95)

grade ='A’";
M Ldada 5 A1
if(average > 95) grade = 'A’;
@ fnee>o9s )
21
\

/
if statement oyl dlea

Aleall jringn 438 de genall L agagae Ja b ;oija.;“y
true statement dasd c.; jy\

if (Condition)
statementl;
statement?2;

statement3;

next statement;,

g

22
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a ' I
b Jha
if (coldOutside) if (coldOutside)
{
e
wearHat () ; !
wearGloves () ; l
}
takeTaxi () ;
l Is it cold Yes
outside?
Is it cold ‘Wear a coat.
tside?
&7 ‘Wear a coat. No
v
‘ Wear a hat. ‘
‘ Wear a gloves. ‘ Take a Taxi .
take a Taxi
@ e J
23
a I
if else statement o &l dlea
if(Condition) Aalall Lall if else dleall 221
{
statement1; daha plll Jaall e gl 138 ey
}Stateme“tz? if statement Ak il Jeall alaial
else ds;; \Aj 43| e AJA.;M 0 _),\a.\ c_\ga
{ crilead/ 3did Condition a_l)
statement_n1; statementl;
statement_n2; statement2;
} Crilen) 388 L 3l ia o1 13)
/ statement_n1,
statement_n2;
Q J
24
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if-else Statement Flowcharts

o5 s AT Aana  Alen 2 21y (3iay ol 13) 5 dpma o Alen i
el Jaa (AL 2905 Waasy

No Yes
Grade > 50

Print “ failed” ‘ ‘ Print “ passed”.

25

/
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ox osiall s ga dad iyl Jla & x is positive 3k ey el )
¢ Al dagd JUB) a3 Al B x s negative 3 9

import java.util.Scanner;
public class Posandneg {

public static void main(String[] args) {
Scanner input = new Scanner(System..in):;

String z =input.nextlLine():

int x =input.nextinc():

if (x>0)
System.ouc.println (x+": positave)");
else
System.ocur.println (X+ AT )2
}

26
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int

import java.util.Scanner;
public class Posandneg {

public static void main(String[] args) {
IScanner input = new Scanner (System.in):;
a =input.nextlInt():
int b =input.nextlInt():

if (a>b)
System.out.println("The maximum No is :"+a);
else
System.out.println("The maxi is "+b) ;
}
}
Output - posandneg (run) x_
o 10
w 50
= The maximum NHo is :@ 50
% BUILD SUCCESSEUL (total time: B seconds)

27

False

grade ='?'

if-else-1f Flowchart

False
de ='D'
False True grade
score
<80 1
False True grade ='C
score
<90 &
-
True grade
score
<=100 }
grade ="A’
|
|

14
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Nested if Statements 4alaial) If Jaa

(block s singlecuslS e su) (s AT if Alan Jab if Alas & jeda 13 o
nested 1 £ Ui if Jea e
Arue Ao Al if mb O o Ja 8 Jds A s dalall f e

Nested if Statement Flowcharts

Yes

Is it cold
outside?

L= i )

Wear shorts.

29

-~ ™
if-else Matching

if (employed == 'y')

This else
matches
with this if.

if (recentGrad == 'y')

{
{
System.out.println ("You qualify for the " +
L_ "special interest rate.");

}

else
{
System.out.println("You must be a recent " +
This else "college graduate to qualify.");
matches }
with this if. b }
else

{
System.out.println("You must be employed to
qualify.");
}

30
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Logical Operators daihial) &) yigall
(&&,1 1) Lad binary logical operators Onihaie (plalea jigi a4zl o
. boolean expressions dahaiall Ol puadll 40 el landiing oAl

&& AND

_mad il (two boolean expressions ) calaia cp et Jay
Cromil) e JS (S Jasd 13) 5 13) true @) il (55 aal 5 Gihaia
false @iwd Y5 true

| OR

gl anl 0555 Sy aal 5 (laia el il (il 0 el b
false @iiwd Vs true WIS sl o paeill aa) 05 o s true

! NOT

434 false wad Ao alnlad &5 1)) | Alaia juedl) A8a ey |54l
false g s 4 ctrue uwad e aiplas &5 13) Wl true g i

/

/
31
\
The && Operator
K& A5l aie ey AND ‘_“A.Lud\ Jalzall @
Las \Sj) \3} truedjsz\@;il_ﬂ\ u\auﬁslauuvyu@u\m\ dic o
(b WS false ziind V) true cmomedl M8 Gls
true false false
false true false
false false false
true true true
J
32
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Gila glaall d4uies 441

The | | Operator

] plaiiub ale ya OR (Al Jalaall o
adé 13) 5 13) false O 58y ) 8 (ailaie (5 et e daladinl dic o
tsh S false Cromadll OIS 8

true false true
false true true
false false false
true true true

© J

33

4 I
The ! Operator

! Jalaall aladils dlie juag (o) NOT dilaial) Zlaall o

e e sS4l 8 cmasaa e uadl) IS 1Y) e

! expression will be false.

e Ifan expressionis true,
1 dle
if (! (temperature > 100))
System.out.println("Below the maximum temperature.");

gl ?‘“""" AA.\M Lg‘ Sad 100 ¢ JAS‘ temperature il 4.«3 cals m u"’"
Below the maximum temperature‘*—hﬂ‘ (':'h s False =l 03543
100 o Jii temperature siall dad 0588 of quag Aaal) el adai K1

true false

false true

o J

34
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Example 1:

a\jq\e\mueﬁj\ﬁm%w)ﬁ\ aggjujsd@@uﬁ;_ﬁ\ °
(Lol L 50 ) Lo 43 sl
import java.util.Scanner;
public class Compare {
public static void main(String[] args) {
int max =0;
Scanner in = new Scanner (System..in);
int x = in.nextiInt():’

int y = in .nextInt(): |Outpul-compare (run) X

int z = in.nextInt(): > e
B>| 22
max = xX; il 33
if (y>max) B EE)
£ £ % max is:89

max = y; BUILD SUCCESSFUL
if (z>max)

max = z;
System.ouct.println("max i=:"+max):;

35

a N
Example 2:

<l 3l aladinly ol D (e dad ST alag) e Jany ali S o
(LgS)Alq)ﬁj)AéﬁaLd\CJJJY{}AJJUL&

2| [ import java.util.Scanner;
3 public class Compare {
4| = puklic static void main(String([] args) {
5 Scanner in = new Scanner (System.in);
& int x = in.nextInt();
7 int y = in .nextInt():;
8 int z = in.nextInt();
9 if (x>y && x>Z)
10 System.coucr.println("The ma n No i= :"+x):
11 else if (y>xX && y>Z)
12 System.our.println("The maximum No is :"+y):
13 else
14 System.our.println("The maximum No is :"+Z);
15| ~ }
l 16 H Output - compare (run) xl
u> run
> 52
B 10
% The maximum Mo is :76
@ IBUILD SUCCESSFUL (total time: 10 seconds) /

36
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Switch _JLiaY) dlaa

el e (4 aSadl) Jea (e switch 4laa iade
S i Jas e S0 e Lage Leaaiid (Sag
switch Ll (true/false) (nobs o Al dlas il
aaxtel) il HLall

Cren (b pma e 2aa e Case <) )Ll dae g 0
RENEN]

37

- R
Switch JLEAY) dlaal alal) (i)

switch (testExpression)

{

case Value 1: ) i o
statement (1) ; // 4 (Je> 45 sa2a ) Adaa

break;

case Value 2: ) ) .
statements (2) ; // 4 (Jea> 48 s ) Adaa
break;

// case statements may be repeated

//as many times as necessary

default: o
default statement //4aa (e 4s gaza gl) Aoy

}

© J

38
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4 N
Q..’\.}E)M\ Q\Jl,ﬁ\aj\ as) ‘_A‘\ (‘.\SLAS"\JL.AA d:\‘aaﬂﬂjpa.n. Z\.ASSWnch °
testExpression _wadll 4l s dde ganall g

e el pal 20 ) e s 5 o)l o (3 el stestExpression e

incompatible types: possible lossy conversion from double to int

Scanner| o R
double =(AI‘[—Enter shows hints)

switch ;grade)l

A ls daaill o2 aity o o el dad (38) 58 O Cang ) A ) i :Case o
()

el Al AW e case Al IS Jeadl Jasind (break o

Ul (ol 35 Y l) il ALGE e el Aad 0 55 Ladie Mii s :default o
Akl a5 ¢(Case

o J

39

4 The switch Statement Flowcharts

Case value

false
|
false
< Case valie.—ine
false

|

statementl
L

o ; J

40
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//

[ ediiosal) Lelin e ) Aa Caen Aigne s i Alen qabay cmall o (S

)

package switchl:’
meort Java.ucil.Scannerxr;
public class Switchli {
public static void main(Stringl] axgs) {
Scanner input =new Scannerx (System.in):
int a = input.nextInt ()’
switch (a)
{
case 1:
System.ccurc.println ("Welcom™) 2
break’
case 2:
System.ocur.println("Haw are you b 7
break:
case 3:
System.cuc.printlin ("G d Morning™) s
break:>
defaulct:
System.ocur.printlin ("Good By"):

BUILD SUCCESSFUL (total time: & seconds)

f— -
» 3
=

Good Morning
o &
N

41

{ break — dlea 352 pe da A G-“u)-.‘-“ 2455 A L;M-‘]
1 rackage switchl;

2 rukblic class Switchl {

3 & public static void main(String[] args) {
4 char ch = 'a';

5 int x=0;

& switch (ch)

7 {

g case 'a'

Lo = =10;

10 case 'b':

& ® =20:

12 case 'c':

13 ® =307

14 }

15 System. cut.println("=x="+ x);

16" - }l

17 }

¥ rum:
" x=30
BUILD SUCCESSFUL (total time: 0 secconds)
® | )

R 5 jaladd) | Al daa
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Example 5:

¢ break — dlax dga g Al ‘55 G“t’)t‘“ 2dl A é;""l““ °

1 rackage =switchl;
2 public class Switchl {
3| = public static woid main(String[] args) i
4 char ch = "a'";
5 int =x=0-;
a switch (ch)
7 i
a8 case "af
L = =10;
10 break:
11 case "kb':
iz x =Z0;
13 break:
14 case "o":
5 = =30
1& break:
17 H
1s Syvstem. our.println ("=x="4+ =)
19 = H
20 §3

rum:

w=10

BUITLD SUCCESSFUL (total time: 0 seconds)

=

./

43

Va

o

\
Example 6:

2 ] import java.util.Scanner;
3 public class Selectswitch2 {
4 = public static void main(String[] args) {
5 Scanner input =new Scanner (System.in):
& String grade=input.nextline():
7 switch(grade){
8 case"pas=":
9 System.our.println(" a-lo o ilkiI");
10 break;
11 case "fail":
12 System. out.println(” owl ) oilhil™);
13 break:
14 }
15| - }
16 }

I Output - selectswitch2 (run) > ]

> run -

L I

= -SUIT_.D SUCCESSFEFUL {(total time: € seconds) /

R 5 jaladd) | Al daa
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.
ilas M
. o he . - “ IR X . *
wuien (grade) M uh LS,);\ %) Case Al St 4\.1\.\5 Lac | d\; ‘_g °
{
case 3:
System.out.print ("B");
duplicate case label
=
(Alt-Enter shows hints) e
gase 3:
System.out.print ("B") ;
-~ . N . . . - -
Al e caa e o8 OV as) dbreak 25 g e Alls e
int grade=in.nextInt () - . . - -
=witch (grade) 'd ”’ Q“ ‘53 LAS um‘
I * = -
case 4:
Syvstem.ocut.println("A")
case 3:
Svstem.ocut.println("E")
break;
case 2: run
System.cut.println("C") — 4
break;
case 1: B
System.ont.println ("F") ; B
break:
\@ ’ %

45

138 LS dad lgdans Y LR
;: 4 paiioall ¢ 55y (Ul
21 char grade='ZA'; *® O ,(E;bﬂ\) JBJYI
22 switch(grade)
23 {
24 case 'A':
25 System.cut.println("4"):;
26 break;
27 case 'B':
28 System. cut.println("3"):
25 break;
30 case 'c':
31 System. cut.println("2"):
32 break:
33 default: System.out.println("Erroz");
34
25
4 | 1l
£o selectionstatements.SelectionStatements () main > switch (grade)  case &apos;B&ap
Qutput - selectionStatements (run) # |
I
o J

46
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4 | 1 [

selectionstatements.SelectionStatements > () main j» switch (grade) » default: 3

[int grade=in.nextIntc () ; }
switch (grade)
{
case 4:
System.ocut.println ("4A")
case 3:
System.cut.println ("B");
break;
case 2:
Svystem.cut.princln ("C
break;
case 1:
Sy=ztem.ocut.println ("EF") ;
break;
defaulc: System.ocut.println(" L2 ]
H

5y Sy -

ut - selectionStatements (run) 2 |

44

‘i’ JLss¥l o3 Lies
8

47

//’

o

public static wvoid main{String[] args) [
Scanner in= new Scanner{System.im);
int month= in.nextInt():
int number0fDays = 0;
switch (month) {
case 1:
case

(1]

case 5:

case T:

case 8:

case 10:

case 1l2:
numberOfDays=31;

break;

case 4:

case 6:

case 9:

case 1l:
numberOfDays=30;

break;

case 2:
System. our.println ("PFlz. enter the Year™):
int year= in.nextInt();
if (yearid==0)
numberOfDays=29;

else
numberOfDay3s=287
break;
1
System. cur.println {"nour " + numberOfDawvs) ;
1

_/

48
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